— -1 ~
SO ; O ” ) S S I
= [ ErIN I O : g
S - 3 |- i | 2 0 SRR R PR R LR E TS EE PR LI O
0 - TR T LRkl - ©
O O O LI o
107 ol
L. ol 1072
owdlll* L o L
I F ] ] | IS F
o - 1-2- 48 - PR 2~ 10 e ¢ +-atd- 4 ¥ 1.05f-
E g g B E
0.05F -1+t~ i 1 -
0.9: 1 " 1 1 | 0.95: 3 1 " :
-3 -2 -1 0 1 2 3 -3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
eSS OWPT_1000eV)
EFit-testCowPt _1000evt
EE: -OR- testLoth 1000evt
EFit-OR4-testLowPt t

8R -testLow 18 ee\\//t

ooa,)cm)
o(dd) (cm)

L 10*1;
107 L B [
[ TRt
9 J..J:I dh | gl | MM A AR RN AN ) .910174:' da W by WGy g Wy | sl Ll
& vosp-- i i i g LO5F : E
E ‘ , , 1;—- < 1 - g:om 4
VIO TR TUTET TRy E o.9sE--IIHHEEEE -1+ - TEELL T £ £
0.9 2 -1 0 1 2 3 R R R 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

-
> T
o F- :
~ - -
ol L. ot
o L. |
) :
- - e
o :

- -

1054

Ratio

=

w ||||||||||||||

0.9

2 -1 0 1 2 3
TP n (PCA to beamline)

0.8



	Contents
	Page 1


